asym_usl

asym_dsl

asym_usr

asym_dsr

—24(

— 200

—18C

—16(

—14(
120
100

=2000 80C

60(

=3000
400

~4000 L 200

| 1 111 | | I I | | 111 1 | 1 111 I 1 111 | 1 11 D
10 -5 0 5 10 15
diff_bopm4aX/um

91

—|24(
3000

2000 —(20(

—{18(
1000

—{16(

=14

12(

=1000
100

-2000 BO(

[H
=3000

400

~4000 - 201

TN T N T B B O o
=10 -5 0 5 10 15
diff_bpmdaxsum

91

—|24(
3000

— 200

2000
—18C

—(16(
1000

—14(
120
100
80C

=1000 0

400

=2000

200

| I N A A I 0 A O B O AN O AN O B 0
=10 -5 1] L 10 15
difi_bpmdaXium

diff_bpmdaX

—{20¢
2000
—{18(
—{16(
1000
—{14(
12(
o 100
80(
~1000 B0(
40(
2000 200
|IIII|IIII|III|IIII|IIII|III

run3791 000 regr¢

2000 b
1000 |
of
1000
~2000 |
~3000 |-
- 20
~4000 |- .
_IIII|IIII|IIII|IIII|I||||||II|IIII|III ﬂ
40 -30 -20 -100 0 10 20 30
diff_bpmdaYium
(l'r
3000 - —{14¢
2000 b —12¢
1000 |- — 100
oF
~1000
~2000 |
~3000 |
- 20
-4000 [ m
_IIII|IIII|IIII|IIII|I||||||II|IIII|III {'
40 -30 -20 -10 0 10 20 30
diff_bpmdaYium
d'
B —{14¢
3000 —
- [] —{12¢
2000 —
- —{100
ml::n:n—J
ﬂ_
~1000 -
2000
v by brra by br v by baaaa b

40 -30 -20 -10 © 10 20 30
diff_bpmdaYium

diff_bpmdaY

2000

—1&C

— 100

1000

=1000 —

~2000 u
IIII|IIII|IIII|IIII|III]J_IIIIlIIIIlIII

— —anc
— —agg
:_ —ang
- 15(
N 10C
~3000 | r
N B0
~4000 | .
il I | | 1 1 1 | L1 1 | L 11 | L1 1 | L1 1 | L 1 1 | ﬂ
60 -40 =20 O 20 40 6D 80
difi_bpmdaX/um
d .
3000 —as(
2000 b lan
1000 - oy
o
- 300
~1000 |
C 15(
~2000 b
- 100
~3000 F
C 500
~4000 m
-1 1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | L1 1 | ﬂ
60 -40 -20 O 20 40 6D 80
difi_bpmdaX/um
diff bpmdeX
| I _E'DI:
3000 — u
- |
. —|a5¢
2000 -
i B —{20c
1000
- 15(
[' -
- 100
-1000
B 500
~2000
ol a b e b oo b 0
60 -40 -20 O 20 40 6D 80

diff_bpmdeX/um

dlthpméﬁL

2000
u —20C
1000
N —15(
ﬂ_
- 100
=1000 —
B 500
=2000 —
- clv e b P Pa o 1y

osression—asvm maindet-vs diff bpm:=C

2000

1000

=1000

= 2000

=3000 [ ]

=4000

20 -15 =10 -5 ©0 5 10 15 20
diff_bom4eY/um

91

2000

1000

=1000

= 2000

= 3000 N

=4000

—ED =15 <10 -5 0 5 10 15 20
diff_bpmdaY/um

91

hpmélcY

3000
2000

1000

=1000

= 2000

20 -16 =10 -5 ©0 & 10 15 20
diff_bpmdeY/um

diff_bpmd4eY

1000

= 1000

= 2000

_|_|I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

1.7Z postpan.png

120

100

200

140

120

100

200

120

100

800

100

B0c

B |
- —{12¢
2000 —
- —{10c
1000 |-
ol m | {80
1000
[ =
~2000
~3000 |- r
- 20
~4000 |- .
_IIIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
30 20 -0 0 10 20 30
diff_bpmEfum
diff b me
: [
3000 — —{12¢
2000
n —{10¢
1000 |-
- —B0(
o |
~1000
-
2000
~3000 |
- n 200
~4000 m
—IIIII|IIII|IIII|IIII|IIII|IIII|I ﬂ
30 20 -0 0 10 20 30
difi _bpmEfum

E:

apon m —{18L(
- |
B —16I
| Il u
2000
i —14¢
[ |
- —12(
1000 —
i |
D_
=000 —
2000 —
B [ |
(Lo v b by v bo v bvvn b
-30 20 =10 1] 10 20 an

diff_bpmEfum

. —18(
2000 — —16I
- —141
1000 —
—12(
D —
1000
-2000 n
_I 1111 | 1 1 11 | 1 111 | 1 1 11 | 1 1 11 | 1 111 | |
=30 =20 =10 ] 10 20 a0
diff _bpmEfum



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3791 000

600 —

400~

200 —

-200 —

~400 —

B |
- 600

=10 -5 1] 5 10 15

diff_bopm4aX/um
diff

—
600 —
400

200

=200

- 400

-600

=10 -5 1] 5 10 15
diff_bpmdax/um

200

-200 —

400 —

-EﬂD_l""l""ll"'llllllllllllll

10 -5 0 5 10 15
diff_bpmdaX/um

u [ |
| 400 N

200

=200

~400 —

- 600

10 5

regression reg

—14(

—12(

— 100

a0c

60(

400

200

—14(

—12C

—100

80c

60C

400

200

—120

—100

a0c

600

400

200

—14(

—12(

—{10(

80C

60(

400

200

1]

maindef-vs

200

=200

~400

111 | 1111 | 1111 | 1111 | 1 111 | 1 111 | 1111 | 111 ﬂ
40 -30 -20 -10 © 10 20 30
diff_bpmda¥ium

400

200

=200

=400

600 —

vl b b s by s by paa Lo s b 0
-40 =30 =20 =10 0 10 20 30
diff_bpm4a¥ium

— 100

200

200 - g

400 —

EENEEEENINE NI RN NN AN NN NEE
600 a0 20 -0 D 10 20 30 o
diff_hpmdaYium

200

-200 —

~400

-600 —

toav v by by v Py g o |
-60 =40 =20 0 20 40 60 80

diff_bpmdeX/um
diff

| —
600 —

400 —

200

=200
-400 —

600 —

AN AT N T O A 0 B A BB B
-60 40 =20 0 20 40 60 80
diff_bpmdeXium

| 400 -

200

-200 —

400 —

crr v vt v brv b bv e b |
6000 a0 =20 0 20 40 60 BO
diff_bpmdeX/um

| 400 | 400
| —10€ |
] B ] B
200 200 u
L —'B.Dt L
o o+
- E.DE -
- [ m
e - 200
- _1{:": -
~400 ~400
= 200 =
B B |
_EDD_Illllll I|IIII|IJ_|_I|IIII|IIII|IIII|III _III

~diff bpm-€

—12C

—10C

600

400

200

—120

—10C

60C

400

200

—10C

60C

400

200

—12C

—10C

60C

400

200

200

- 200

~400

~600 —

20 -15 =10 -5 ©0 5 10 15 20
diff_bom4eY/um

400

200

=200

~400

~600

20 <15 10 -5 O 5 10 15 20
diff_bpmdaY/um

diff_bpmdeY

| 400 |

200

-200

~400

GO0 el berer v berrr b b brva v b

20 -16 =10 -5 ©0 & 10 15 20
diff_bpmdeY/um

diff_bpmdeY

| 400

200

- 200

~400 —

- 600

100

800

100

800

100

80C

100

800

1]

- postpan:png

600

400 —

.

200~

=200

-400

_E.DD_IIIII|IIII|IIII|IIII|IIII|IIII|I

=30 =20 =10 1] 10 20 30

diff_bpmEfum
diff _

—
600 —
400 =

200 —

200 —

~400 —

_E.DD_IIIII|IIII|IIII|IIII|IIII|IIII|I

=30 =20 =10 1] 10 20 30

difi _bpmEfum
diff_bpmE
- i u |

| 400

200 —

=200 —

400 —

| [ |
—'E-I}EII""l""l"""""""""'l'

=30 =20 =10 1] 10 20 a0

diff_bpmEfum
diff_bpmE
. [ |

| 400

200 —

-200

~400 —

- 600

-30 20 =10 0 10 20 a0
diff _bpmEfum

100

800

200

100

800

100

80C

100

80C



asym_usl

asym_dsl

asym_usr

asym_dsr

run3791 000 resression asym maindet

di

=

bpm4aX

[ _} %2/ ndf 22.92/25
2000 ~ ]}

-t

- B, p0 0.9539 * 1.3725
1000 |- ™

i p1 -2353 £ 0.7

of

-1000 |- g

B *r

i W
-2000 {j
~3000 |
_mnn—llllllllllllIII|IIII|IIII|I_II

-10 -5 0 5 10 15

- h %2 { ndi 24.39 [ 25
2000 —
Y
- Y PO 0.7759 = 1.4422
1000
- p1 -251.6 £ 0.8
o
~1000 — )
E 1-l-'|‘_|_++++
-2000 - |
- 4
-3000
_4p00 |- _
_|IIII|IIII|IIII|IIII|IIII|III
=10 -5 (1] Lo 10 15

diff_bpmd4aX

x2 / ndf 30.62/ 25
pO 1.466 +1.144
pi 204 + 0.6
1000 =

oF
=1000 ;‘ _ H#;f:
=2000 u 41

=10

-5 1]

5 10 15

diff_bpmd4aX

¥2 / ndf

p0U
p1

34.7/25

1.362 +£1.107

1794+ 0.6

TS

500

1]

=500

=1000

=1500

|

+

#.H |

+

.

-0

diff_bpmdaY

¥e [ nof 232.5/ 34
p0 3.041+ 1.996 *
++} -
pi 25.58 + 0.33 i
o v B
- 1 -
- it
-EDD:' pumﬁ
-mnn:— i
_1EDD‘|'_II_II|IIII|IIII|IIIIIIIIIIIIIIlIIIIlIII
40 =30 =20 =10 1] 10 20 30

diff_bpmdaY

¥2/ndf  2358/34
p0 3.057 £ 2121
p1 26.51+ 0.35
ﬂ:- o
_ 1 -
- it
=200 - Pﬂmﬁ
=1000 }
=1500 - -

-40 =30 =20 <10 1]

iff bpmdaY

600

400

200

=200

~400

ditf_bpm4ayY

600

400

200

=200

400

10 20 30

- 1</ ndf 325.3/34
B p0 -0.6623 £1.7579
B p1 -7.082 £ 0.287
- |

— t

[ { s “l -
ITEEEENNEEE NN NN AN NN NN NN

40 =30 =20 =10 1] 10 20 a0

[ w2 | ndf 307.6/34
[ p0 —0.5586 + 1.6153
[ | p1 -4.509 + 0.264
e,

E T ey |
TIIIIlIIII|IIII|IIII|III_|J_IIII|IIII|III

-40 =30 =20

diff_

3000

2000

1000

=1000

= 2000

=3000

=4000

¥2 / ndf 32.71/29
pO 1.025 £ 0.785
p1 -51.84 £ 0.08

60

91

3000

2000

1000

=1000

= 2000

=3000

=4000

-40 =20 1]

iff bpmdeX

20 40 60 80

w2/ ndf 34.96 7 29

po 0.8709 + 0.8017

p1 -55.34 + 0.08

-60

-40 =20 1]

20 40 60 a0

diff_bpmdeX

%2 { ndf 37.79/ 29
p0 0.8118 + 0.7634
pi 43.09 + 0.07
1000 -

ol
1000 :- =
i #;*
Ry
~2000 [ _H

-60

40 =20 1]

20 40 60 80

diff_bpmdeX

12/ ndf
po

pl

33.45/29

0.6634 = 0.8239

37.77 £0.08

500

0

=500

=1000

=1500

1
1
ﬁ

iﬁ‘ “bpm-fit

t'vs d

diff_bpmdeY

¥e | ndf 155.6 /36

p0 3.501+1.957

p1 47.26 +0.49
0

~500 | m

=1000

=1800 — -

'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

-25 =20 =156 10 -5

diff_bpmdeY

1] ¥ 10 15 20

= 1000

'{

w2/ndf | 1564736

p0 3.514 £ 2.081

p1 49.25 1 0.53
o

500 ] hﬁw

=1800 — ~

-25 =20 <16 10 -5

91

600

400

200

- 200

~400

-600

-B00

—_—
-
f
F

iff bpmdeY

sEERINNETENNINENIERE NN NI RENE RNENE RRR R ARENI NN

Wwﬁww “W -

1] 5 10 15 20

%2 / ndf 213.1/ 36

p0 -0.789 £ 1.747

-16.66 = 0.44

{_

-25 =20 -1 10 -5

9-.

400

200

—_—

=200

~400

- 600

-B00

e T

iff bpmdeY

-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

I m“ww .'\

1] 5 10 15 20

1= ndf 200.9 /36
po -0.7032 = 1.6074

-11.87 £ 0.40

|

postpan.png

15 20

diff _bpmE

¥= [ nof 52.95/ 35
F}U 3.531+2.012
p1 24.04 £ 0.3/
B |
of-
P me*
ok M
=000 }

] |

=30 -20 =10 1]

diff _bpmE

¥2/ndf  52.86/35

p0 3.504 £ 2130

p1 26.66 £ 0.39
of- |
o0 _ N Hﬂ%
~1000 %— i
~1500 i—

10 20 30

! %

=30 -20 =10 1]

"-"1

2000

1500

1000

500

500

=1000

=1500

iff bpmE

10 20 30

x= [ ndf 4719735
p0 —0.7274 £ 1.1482
pi -68.92 £ 0.21

D lvvrr tvrv v b rrr bvvrr brwra v o b

N, M}-

=30 =20 =10 1]

diff_bpmE

2000

1500

1000

500

(1]

-500

=1000

=1500

10 20 30

'I|IIII|IIII|IIII|IIII|IIII|IIII|II

¥2 / ndf 4562 /35
p0 —-0.63 +0.98
p1 -66.31 + 0.18

"
HW’W

-3 =20 =10 1]

10 20 30




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

diff_bpmdaX

¥2 / ndf 18.55/ 25
p0 1.175 £ 0.421
p1 0153 +£0.233

of - Wﬂﬁ :

il
-1{?03—

-150;
‘E““f_|....|....|...

=10 -5 1]

diff_bpmd4aX _

%2 | ndf 16.91/25
p0 1.007 + 0.426

p1 0.09788 £ 0.23591

5 10 15

50

1]

50

=100

IIIIIIIIIIIIIIIIIIIIIIII
i

=150

* hjfhwﬁw }

=10 -5 1]

diff_bpm4aX

5 10 15

¥ | nf 30.34 7 25
pO 0.7418 £ 0.4051
p1 0.02402 £ 0.22378
" |
ﬂf— - ]LEIHF"‘H"‘T"""""T@'*LH‘}H m
ok -
-mnf— -
-1503—
E ol b b br v by
10 5 0 5 10 15

diff_bpm4aX

%2 [ ndf 2744 [ 25
p0 0.661 = 0.4185

p1 0.0878 + 0.2314

50 ‘

”‘ Mwwﬁ
o
-mnf—
_1ED}|....|....|..

run3791 000 regr¢

gression reg ma

%

200

100

=100

=200

bpmdaY

180

100

o 2 / ndf 30.51 / 34
Z_ - p0 1.022 + 0.421
B pl  —0.001723 + 0.069554
| h T

- Hl*w%’i
- Wﬂ}ﬁ ;H‘Hﬂ
Illlllllll|IIII|IIIIIIIIIIIIIIlIIIIlIII
40 =30 =20 =10 1] 10 20 30

diff_bpmdaY

%2/ ndlf 07.82 /34
po .8687 £ 0.4264
P 0.007024 £ 0.070413
- 1 }
0 N Lik |-|.|'H-++++“'W"Eﬂﬁ -rFI' H-I_li-
100
~o00
-300
T||||||||||||||||||||||||I|||||||||||||
40 .30 -20 -10 0 10 20 a0

diff_bpmdaY

}:2 ! ndf 296/ 34

pO 0.8299 + 0.4054

p1 0.02317 £ 0.06677 }1
' T ’rm{l '
o W+hhl+ww‘*‘*‘¥t"‘*‘|ﬂ+ ]
- 1

50

~100

-150 | _

200
o bovra b b s b b bvv o beag
=40 =30 =20 =10 1] 10 20 a0

diff_bpmdaY

}{2 / ndt 29.03 /734

pO 06752 £ 0.4154

p1 0.02426 £ 0.06907

™ TTTI |
5 | + *+
= - +
: +

_.5-&__

~100 | |

150 - -

~200 |
'_I'Illlll I|IIII|I_|_II|IIII|IIII|IIII|III

indet v

=100

=150

diff_bpmdeX

¥/ ndf

pO

28.09/ 29

1.251+ 0.420

—0.03914 + 0.04102

} ot

fjprmri

|

-60 -40 =20 1] 20

diff

200

150

100

=100

-150

-EEID

diff

250

200

180

100

=100

=150

_bpm4deX

40 60  BO

;q

100

i

-100
-150
- 200
- 250

-300

iff_bpmdeY

¥2 / ndi 40.75 / 36
po 1.116 + 0.420

—0.006404 + 0105232

{h]lﬁh%%w—ﬂ-“ pi

diff _bpmE

-25 =20 =156 10 -5

1] ¥ 10 15 20

diff_bpmdeY

- ¥ { ndf 31.72 /29
- p0 1.104 + 0.425
_ pl  —0.04011+ 0.04157
- b i

| LYttt

:—I I_I | L1 1 I L1 1 | L1 1 | L1 1 I L1 1 | L1 1 | |

-40 =20 1] 20

_bpmdeX

40 60  BO

17.67 729

0.7948 = 0.4047

~0.0005428 = 0.0396295

é: F;.-' molf
]
| PW”*"““"‘“’""“‘*“

-60 40 =20 1] 20

diff_bpmdeX

¥= { ndt 1927129
p0 0.6573 £ 0.4189
p1 0.01958 + 0.04104
of -
n— - %ﬁ%ﬁ%ﬂwmﬂ
100 E—
150 E—

s dif

1 ]

40 60

g

“bbin

\-fit “post

¥ | naf a6.61 /7 36
pO 0.9534 + 0.4247
p1 0.01739 + 0.10653
T
_50 :— ﬂ
~100 —
150 —
-200 —
-350 —

—IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

ﬂawﬂwwﬁww_

-25 =20 <16 10 -5

91

=100

-180

2
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=200

iff_bpmdeY

1] 5 10 15 20

¥* { ndf 30.33 /36
p0 0.8686 = 0.4040

p1 —0.03245 = 010108

mew

b b b b ber b b beraa Laag

-25 =20 -1 10 -5

diff_bpmdeY

1] 5 10 15 20

_ ¥ | naf 2822 1 36
100

N po 0.68B65 + 0.4180
b

N p1 —0.02551 + 0.10480
50l
100 |
150 - -
~200

-II||-||||||||||||||||||||||||||||||||||||||||I|||

-2 =20 =16 -10 -5

15 20

pan.png

¥/ ndf 35.69 /35
p0 1.235 + 0.419
p1 0.02057 + 0.07635 { :
of ”‘W .p-m#—'w-mhr-“iqﬁr” +
_5,[;.:—
~100 |
~180 |
~200 |
-250 -
'I|IIII|IIII|IIII|IIII|IIII|IIII|II
=30 =20} =10 ] 10 20 a0
diff _bpmE
¥2 i ndf 36.56 / 35
p0 1.052 + 0.424
p1 0.01657 + 0.07727
S— }
- 4
of | WWM@?H‘ )
_5,[;.:— +
~100
~150 -
~200 i
:||IIII|IIII|IIII|IIII|IIII|IIII|II
=30 =20 =10 1] 10 20 LN
diff_bpmE
i S ¥ I nd 36.03 /35
1o p0 0.6529 + 0.4031
5{;,'_
- M p1 —0.04495 + 0.07388
of H HWTH ‘
e |
100 - H
~150
-200 [~
-|||||||||||||||||||||||||||||_|||||
=30 =20 =10 ] 10 20 a0
diff_bpmE
¥2 | ndf 30.05 /35
100
i p0 0.5017 + 0.4172
50 ~0.02919 + 0.07651
Ik
0 Hjﬂh

=100

=150

-3 =20

=10 1] 10 20

30




asym_usl

asym_dsl

asym_usr

asym_dsr

run3791 000 re

diff_bpmdeX/um

40 60 80
diff_bpmdaX/um

2000 2000 b 2000 b
1000 1000 | 1000 |
0 o o
1000 1000 1000 |
~2000 ~2000 | ~2000 b
~3000 ~3000 |- ~3000 |
~4000 | ~4000 |- ~4000 |
_l 1 1 1 1 | 1 1 1 | 1 1 1 1 | 1 1 11 I 1 1 11 | 1 11 =111 1 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 111 -1 1 1 | 1 1
10 5 0 5 10 15 40 -30 -20 -0 0 10 20 30 60 4D
diff_bpmdaX/um diff_bpmdaYium
. . ff .
3000 3000 3000
2000 b 2000 b 2000 b
1000 | 1000 |- 1000 |-
oF oF oF
~1000 | ~1000 ~1000 |
~2000 ~2000 | ~2000 b
-3000 |- ~3000 ~3000 F
~4000 | -4000 [ . ~4000
- | L1 1 1 | 1 11 | L1 1 1 | L1 11 I L1 11 | L 11 wull B | | 1111 | 11 11 | 11 11 | 1111 | 1111 | L1 11 | L1 -
10 5 0 5 10 15 40 -30 -20 -10 0 10 20 30 60 4D
diff_bpmdaXium diff_bpmdaYium
. » .
3000 3000 3000
2000 2000 2000
1000 1000 |~ 1000
= o | =
1000 1000 1000
-2000 - ~2000 : -2000
(v v bvv o b v bv v by v Taag IR RN RN RN FR RN RN NEERE NN [
10 5 0 5 10 15 40 -30 -20 -0 0 10 20 30 _60
diff_bpmdaX/um diff_bpmdaYium
. . ff .
| | | | |
2000 2000 2000
1000 - 1000 |~ 1000 |~
ok o ok
1000 1000 1000
-2000 - 2000 ) -2000
i 1 1 | | | | | 1 1 11 I 1 1 11 | 1 11 _I 111 | 1111 | 1111 | 1111 | 1 11 _IJ_I 111 | 1111 | 111

[ 1
10

L
-5

sression-asym maindet vs diff”

11 1

B0  BO
diff_bpmdeX/um

30 -20 -

“bpmsscat

2000

1000

=1000

= 2000

= 3000

=4000

3000

2000

1000

=1000

= 2000

= 3000

=4000

3000

2000

1000

=1000

= 2000

2000

1000

= 1000

= 2000

- POS

20 -15 =10 -5 ©0 5 10 15 20
diff_bom4eY/um

20 <15 10 -5 O 5 10 15 20
diff_bpmdaY/um

20 -16 =10 -5 ©0 & 10 15 20
diff_bpmdeY/um

-2 =15

tpan:png

2000

1000

=1000

= 2000

=3000

~4000

IEI_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

=20 =10 0 10 20 30
diff_bpmEfum

3000

2000

1000

=1000

= 2000

=3000

=4000

2

-20 =10 0 10 20 an
difi _bpmEfum

diff_bpmEfum
ifL
2000 —
1000 —
D_
=1000 —
-2000 [~
_IIIII|IIII|IIII|IIII|IIII|IIII|
-30 20 =10 0 10 20 a0
diff _bpmEfum



e00 600 — 600 600 600 —
| | B | | B | B
. 400 . 400 — . 400 . 400 — . 400 —
| | B | | B | B
1 1 | 1 1 | 1 |
200 200 - 200 200 ) 200
l 0 o 0 = o
g_ y — =200 — 200 — =200 =200 - 200 —
400 400 — — 400 ~ 400 — 400
~600 ~ 600 — ~600 -600 — 600 —
v lvvrr b ber e v br s bvraa b b bevrs bvvrs brves bvres b e b Lovov v bvvra bvv e bvvran v by
=10 =5 1] 5 10 15 =40 =20 =20 =10 0 10 20 an B0 =20 =15 =10 <=5 (1] 5 10 15 20 =30 =20 =10 1] 10 20 an
difi_bpmdaX/um diff_hpmdaYium diff_bpmdaX/um difi_bpmdaY/um diff_bpmEium
& ] lr‘i L
(I |
e00 — e00 — 600 —
| | B | B |
. . 400 — . 400 . 400
] ] i ] i ]
200 200 200
] l o o - O
400 — 400 — =400
_Eﬂn_llllllllllll||||||||||||||||| _Eﬂn_||||||||||||||||| AFEENI TR NN RN NEE _EDD_l||||||||||||||||||||||||||| _E.DD_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III -600
=10 -5 (1] Lo 10 15 40 ~30 20 =10 (1] 10 20 a0 B0 40 20 (1] 20 40 [ a0 20 =15 10 <5 (1] Lo 10 15 20
difi_bpmdaXsium difi_bpmda¥ium difi_bpmdeXsum difi _bpmdeYium difi _bpmEfum
diff _ diff _ ' diff bpmdeY diff _
| 400 — | 400 — | 400 — | 400 | 400
| i | | | | | i |
1 1 1 1 1
200 — 200 200 200 200
o o o o 1]
reg_asym_usr _ _ _ _
=200 — - 200 — -200 — =200 — =200
400 — =400 — =400 — 400 — =400
_||||||||||||||||||||||||||||| _||||||||||||||||| plvvva e bvraa b _|||||||||||||||||||||||||||| _|||||||||||||||||||||||||||||||||||||||||||||||
~800 55 -5 0 5 10 15 600 a0 20 -0 D 10 20 30 6000 a0 =20 0 20 40 60 BO 05 98 0 5 0 5 10 15 20 ~600
difi_bpmdaXium diff_hpmdaYium diff_bpmdeX/um difi_bomdaYium diff_bpmEium

| 400 | 400 | 400 | 400 | 400
| - | - | - | . | "
1 1 1 1 1
200 — 200 — 200 — 200 — 200 —
= o of = ' o :
g— y — =200 — =200 — =200 — =200 — =200 —
400 — 400 — 400 — ~400 400 —
_EII}D_l | ||||| ||||| ||||||||| _E.DD_lllllll ||||||||J_|_|||| |||||||||| _EDD_ ||||||||||||||| _EII}D_|||||||||||||||||||||||||||||||||||||||||||I||| _E‘.I}D_Illll|||||||||||||||||||||||||||

run3791 000 regression-reg maindet-vs diff bpm-sc¢at postpan.pne- R



